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Special Right Triangles

2 Types:

1) 30  ‐ 60  ‐ 90   Right Triangles

2) 45  ‐ 45  ‐ 90   Right Triangles
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30  ‐ 60  ‐ 90   Right Triangles

In any 30  ‐ 60  ‐ 90   triangle, the hypotenuse is
twice as long as the short leg, and the long leg is
       times as long as the short leg 
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Given an equilateral triangle with a side of 
14 cm, find the altitude of the triangle.
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Given an equilateral triangle with an altitude 
of 12 in, find the area of the triangle.
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A tree casts a 60‐foot shadow.  If you are standing 
at the end of the shadow, and you must look up 
at an angle of 30o to see the top of the tree, then 
what is the height of the tree?
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45  ‐ 45  ‐ 90   Right Triangles

In any 45  ‐ 45  ‐ 90   triangle, the hypotenuse is
       times as long as each leg 
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A square has a diagonal of 50 cm.  Find its area.
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